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(1) <12 2udal oglisen usl-l AL G GrradlMi qvil.
(2) oell oug-l »is sl el suld ®.

A oglasen sl AL G GaraAdlHl @vil. 20
(1) oudul sRuoll sifi uziid sl 4 ?

(A) 1958-59 i B) 1973-74 4i

(C) 1966-67 Hi D) 1969-70 “i

(2) Aafrie y3 wzdl dedyi dadl el 58 8 ?
(4) SBI (B) NABARD
(C) RBI (D) IDBI

(3) Amuqy ik 22 g ?
A)  sRul sild B) use sik
(€) el sila D) GUAsd LA~ AYs

(4) oudul 56 NelBls Al 2UBLs YrIRIAAL 214 $AHL U] S 7
(A 19851 »lellPis el  B) 19911 >ledlPis sl
(©) 19730 2hells el  O) 1981+ 20ellis {llasll

(5) Gewdlsawl, wi-olsel > ABuglseL ..........
A) AldRs sl 828l 8 B) cusl sl yes o
C) ursld -l 84efl ® D) bls YR 88 ©
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(6) GRA%UIAL M gd UL suL Gelloll Alell ay Heezw ol

w7
(A) HleL Geloll B) sl seedl 2 gl Galol
(C) H®H seAl Gelol D) NPy Gl

(7) wem seqi Geloll el s g Y3 ud 8 ?
(A) 2slHsa A~ B) 4l
(C) MAA Sl sl e D) adlmolg als

(8) eudl A~ s yel as ?
A 31 HEd 2005+ A% B) 31 Hd 2006+ A%
(C©) 31 HE 2007 A% D) 31 Hd 2008 A%

(9) 111 AouHl 56 Wl AL U MR HsAML 2l B ?
A) 2l B) wels xHAAdl
(C) oz D) GuAsd ol o AHRAUIAL

(10) 11 eg-ul ool olg 55 el uasiy ?
A) 2l Herasial AL
B) 97 [asiuel YBa o,
(C) <Rusld AL dadis) WR wdl YBa ©,
D) GuAsd ol sloidl

(11) QA-umiel sal YaR Adlan A 45l YuRl s6l asiu ?
(A) Gl wist WL 59
B) ol g3l isollsel 59
(C) Walslal qaLRiql dMs o-iadl
D) Mdl ud axdld euel saq 5.
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(12) APaseiql dseldi sul 2ol au-ll ysd 3l suoldmi aidl & & 7
A [as@alla sl B) eufasa sl
©) [asfd s D) ndfasua s

(13) 283 &=+l Gellelld sunl ARAN UMl 21d & Ak g

s8q1y 7
(A  Geldlsel B) aAPuslswL
©) rune(lsrwL D) RS-

(14) 20064 & (li-isl) Gellel-l Himalel s3el s8]l sami

pdl ©® 7
(A) 30 @ 3. B) 25 dm 3.
(C) 22 am 3. D) 18 a 3.

(15) 2007-0841 G il s+ Gellol -l BLsH-l vl 3eell adl ?
(A) 1,33,67,000 ®B) 1,15,65,000
(C) 1,44,51,000 D) 1,25,35,000

(16) 1041 Aoglisl 6ldL WAL 6le 200741 32dl AU R
g1ddl &dl ?
(A) 367 am B) 376 am
(©) 299 dmm D) 423 dm

(17) eRavll sl FMuls uRewdmi QA-uxiell s wReias qHde

adl Yl ?
A Rl ylaul B) MuAAd Gewied ugla
(C) mvildR+ll aurla D) Y5 viaulasd

(18) 113l -l aeuifi-l e 3l & ?
(A Heraisiel B) ardasl
(©) nlausasial D) et i @&l W ui adl
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(19) w2y el WSAHL GUle sl AN MR AL YR Wl du © ?
A Fuwsdl suadl B) s Ha-dl uBu
©) Htasxsl wa D) dlwell+i yrasi-l wla

(20) 20062 =il e A1 YA Hulel 3ed]l As8] sl 2l & ?

A) 4 KR 3. B) 5 KR 3.
©) 3 KR 3. D) 2 K3 3.
2 okadl sRall sila-ll Halelil agldl, 10
wYql
2 Aluglse-ll eidl 2ddat urHl 2 qgldl. 10
3 GlRAML Al WALl Gellld Hetd Auendl. 10
wYql
3 111 ydaaa qo-isll Gl el arudl. 10
4 Rl sl (als uRenl dxendl. 10
wYql
4 Alell WL GelRlHL Yy sl Rl 10
5  wUlRls yrRHAL Asadivl yuendl, 10
wYql
5 1141 Yol AHAL 3SR AHAAL 10
6 2sld aul : (Aduel As) 10

(1) vu-llsel
(2) Wy seqi ASAA MR
(3) sRuwdll sik.
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ENGLISH VERSION

Instructions : (i) Write correct answers of M.C.Q. given below.

@) Figures to right side indicate marks of question.

1 Write correct answers of MCQ given below in your main 20
answer book.

ey

)

3)

4)

()

©6)

The green revolution in agriculture sector was started
in India in )

(A) 1958-59 B) 1973-74

(C) 1966-67 D) 1969-70

Which is the supreme institute among agriculture credit
institutes ?

(A) SBI (B) NABARD
(C) RBI D) IDBI

What is the Rainbow Revolution ?
(A) Green revolution (B) White revolution
(C) Blue revolution (D) Above all revolutions

From which industrial policy economic reforms
implemented in India ?

(A) 1985 policy B) 1991 policy
(C) 1973 policy (D) 1981 policy

Liberalization, privatization and globalization are ..........
(A) Parts of Internal development

(B) Parts of External development

(C) Parts of Fiscal Policy

(D) Parts of Economic reforms

Which type of industry helps best for unemployment
removal in India ?

(A) Big industries

(B) Small scale and home industries
(C) Medium scale industries

(D) Affiliated (Anushangic) industries
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(7) Which thing is provide to big industries by medium
scale industries ?

(A) Technical knowhow (B) Machineries
(C) Processed raw material (D) Trained labour

(8) When 10%h Plan finished ?
(A) 31 March 2005 (B) 31 March 2006
(C) 31 March 2007 (D) 31 March 2008

(9) Which basic problem is focused in 11th plan ?
(A) Poverty (B) Regional unequality
(C) Unemployment (D) All above problems

(10) Which is the weak side of 11th Five Year Plan ?
(A) It is over-ambitious plan
B) It is difficult to achieve 9% growth rate
(C) It is difficult to get sufficient finance target.
(D) Above all matters

(11) Which following reform is known as general reform in
agriculture sector ?

(A) To give protection of standing crops
(B) To do centralization of pieces of land

(C) To create modern system for agricultural product
selling

(D) To Light population burden on agricultural sector.

(12) Which countries are taking objection in the matter of
labour transfer liberty in concern of globalization ?

(A) Developing countries
(B) Less developed countries
(C) Developed countries
(D) Half developed countries

(13) What 1is said to the Public Sector industries which are
being sold to the industrial adventures ?

(A) Liberalization (B) Globalization
(C) Privatization (D) Disinvestment
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(14) The criteria for investment has been fixed for very small
scale industries since 2006 is :

(A) Rs. 30 lac (B) Rs. 25 lac
(C) Rs. 22 lac (D) Rs. 18 lac

(15) How many units of small scale industries were in 2007-08 ?
A 1,33,67,000 B) 1,15,65,000
(C) 1,44,51,000 D) 1,25,35,000

(16) The numbers of unemployed persons in the country
existed after the efforts in the 10th Five Year Plan was

(A) 367 lac (B) 376 lac
(©) 299 lac (D) 423 lac

(17) Which following factor is not introduced as a certain
factor of green revolution ?

(A) Irrigation facility

(B) Traditional system of production
(C) The use of fertilizers

(D) Modern agriculture tools

(18) How is the 11th plan according to its targets ?
(A) Ambitious
(B) Realistic
(C) High ambitious
(D) Most probably target achieving

(19) In medium scale industries which factor is specially
responsible for productivity ?

(A) Skill of entrepreneur

(B) The process of raw material

(C) Availability of manpower

(D) Availability of electric power supply

(20) The criteria for investment has been fixed for small scale
industries since 2006.

(A) Rs. 4 crore (B) Rs. 5 crore
(C) Rs. 3 crore (D) Rs. 2 crore
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Describe the limitations of green revolution in India. 10
OR
Describe the effects of globalization on Indian economy. 10

Explain the importance of small scale industries in India. 10

OR

Show the bright sides of 11th plan.

Explain the factors of green revolution in India.

OR

Show the main problems of small scale industries.

Explain the success of economic reforms.

OR

Explain the challenges against 11th plan.

Write short note : (any one)
@) Privatization
@) Problems of medium scale industries

(1) Green revolution.
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